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Function0l for No.10044

2={(5.b),(7,¢),(3,t),(9,a),(1,b)
NoOI = >
3=(x=5y"-06)
4=(y=5x"-6)
-5 ; x< -2
NoO3 = fix)=|2x-1 ; -2<=x<2
-x+1 x> 2
[o=—/21,B=-2,y=1,6=2,6=4,a=2+h,
CI=x 41
2=fx
No05 = 1 , ,N006:{
7T ox42
L.4=4x—-1

):0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.:0.0:9:9.0:9:9.0:0:0.0:0:9.0:0:9.0.0:9.0.0:9:9.0:0:0.0:9:0.0:0:0.0:0.¢
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d={(s,7).,(s,5),(p,5), (e, 10),(b, 1)}
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D,={-5,-1,0,1,4,5}

,No02=| 1=(f(x)=+/x+15)

2=(f(x)=5x"+2)

/

2

, ,N004:[ d=(=y-1) }
2=(y=-3x+1)
b=2]
flx)=7-x
D ={x|-7<x<3}

),0:9:9.0:0:9.0:9:9.0:0:9:0.0:9.9.0:9:9.0:0:9.0:0:0.0:0:9.0.0:9.0.0:9.:9.0:9:9.0:9:0.0:0:9.0:0:0.0:¢
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Function0l for No.10127

A={(r,5),(t,9),(a,8),(e,5),(e, 10)}
2={(1,c),(7,¢),(5.t),(2,r),(4,b)}

D= {-4,-2,0,2,4,5}

No0I = 3=(y=2x-3) , »No02 = .Iz(ﬂx)=Vx;11)
.4:(x=2y2—3) 2=(f(x)=5x"+6)
[ 2 ; x<=-3
fix)=| x-5 , -3 <x<H¢4 dA=(x=-3y-2
No03 = () =| = ) : ,N004:[ PR )}
2x+1 x> 4 2=(x"=2y+3)

[o=—/22,B=3,y=1,6=46=7,a=4+h,b=4]

No05 =

X [Page = 0002]

d=4x

2=—-2+x

3=-x+2
1
4=
3x-3

flx)=x>-11

B ,N006:|:Df:{x|-3<x<5}}
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Function0l for No.10305

d={(p,7). (e, 4),(c,6),(d,3),(b,3)} D,= {-5.-4,3,0,3,5]
2={(3,a),(4.b),(2,r),(5,5).(5,b :
NoO] = {(3.a),( ). (2,r),(5,5),( )}’ No02=| 1= (f(x)= /—x+15)

3=(y=4x"+3) ;
.4=(x=4y2+3) 2=(f(x)=4x"+3)

7, x<=-4
f = 2 +1 N '4 < < 2 = 2 —_ =

No03 (x)=|2x x | ’N004:{1 (P +2y-3 o)}
-3-x x> 2 2=(x-y=1)

(o= /22, B=-dy=-1,8=26=5a=2+h b=2]

__]:ﬁ_
1

2= 122
No0S5 = Yx+d | Noos=|  T)=13-x
D={x[-3<x<5}
S=—x+1 ‘

2
L4=-3x"+1]
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Function0l for No.10491

d={(4.p).(6.¢),(1,b),(9,1),(2,b)] D (21,0, 12,4}

2= ,2),(r,5),(d,6),(t,2),(e, 10
No0I = {(e.2) (r3_) i 2) (127, (¢ )}, ,NoO2=| ]=(f(x)=4x+15)
I=(x=3y"-4) 5
2=(f(x)=3x"-95)

A4=(y=3x"-4)
24x ; x<=-4
f :_2 +3 y '4< <2 = 2: —
No03 = (¥)=|=2x+3 * , ,N004:{1 (O =x 1)}
-1 ; x> 2 2=(x-3y=1)
[ao=-7,B=-4,7y=0,8=26=426,a=2+h b=2]
=43 ]
2= flx)=x"— 11
No05 = .324/—21+x , ’N006:[Df={x|-6<x<3}}
4=
L 2x+2 ]
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Function0l for No.10782

A={(7,a),(8,5),(7,s),(6,d),(10,c)}

2={(5,0).(3,¢).(4,5),(10,5),(1,5)] =134, -1,0.4, 33
. = )r b Jc b JS bl ’ b )S
.4:(x=3y2+2) 2=(f(x)=4x"+5)
2x+2 ;  x<=-4
fix)=| 2-x , 4 <x<=4 =(1*=3-
No03 (x) o x | ’N004:{1 (* =3 x)}
L -2 ; x> 4 2=(x=y+1)
[a=-7,B=-4v=006=4c=246,a=4+h b=4]
I=x+1
2 =4/ —x 2
flx)=13 -
NoO5 = Ll Neos=| T *
o— Dy={x|-4<x<6)
4x+12
. 4d=—2+x]
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Function0l for No.11040

d=—x+1

A={(p,8).(t,3),(e, 10),(r,4),(r,3)}
2={(7.p),(5,1r),(4,a),(10,a),(8,1)}

VRN
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D,={-3,-2,-1,0,2,3}

— — — — 2_
.4:(x=5y2+2) 2=(f(x)=4/x+14)
-3 ; x< -2
f =] — _5 5 '2 < <=2 = 2— =
No03 = (x) * X ’ ’N004:{1 (' -2x+1 0)}
2x+1 x> 2 2=(y=-2x+3)
[o=—24/6,p=-2,y=0,6=2,6=5a=2+h,b=2]
=23 +3]
2 1 fx)=x>-8
= X)=Xx —
No05 = 3x+9 |, ’N006_[Df={x|-9<x<3}}
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Function0l for No.11048

A={(b,9),(c,10),(t,5),(c,6),(d,10)} D= {-5,-2,-1,0,2, 5}
NoO] = -2={(S,3),(;_2),{6,12),(19,6),(013)} L No02=| I=(fx)=5x1+4)
d=(x=6y"-95)
.4:(y=6x2—5) 2=(f(x)=4x+14)
3 ; x< -4
flx)=| x-1 ; 4<=x<4 d=(x+y=1)
No03 = 2x+5 > 4 , ’N004:[2:(x2:—2y+1)}

(o= /21, B=-4y=0,6=4¢c=6a=4+h b=4]

A=
.2:’\/—)6 2
f(x)=10—-x
No05 = 1 , , No06 =
3= D={x|-4<x<6}
2x+2 ‘
L 4=-3x"—1]
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Function0l for No.11107

d={(4,5).,(2,s),(1,b),(10,¢e),(8,a)}
2={(s,6),(d, 4),(r.3),(p,10),(r,4)}

NoO1 = 3=(y=4x"-3)
4=(x=41y"-3)
-8 ; x< -2
NoO3 = fix)=2x-4 ; -2 <x<3
—x+1 x> 3

D,={-3,-1,0,1,3,5}
 No02=| 1=(f(x)=5x"—4)

M

2=(f(x)=4x+15)
: ,N004:[']:(x2:y_2)}
2=(x=y+1)

[o=—/22,B=-2,y=0,6=3,6=5,a=3+h b=3]

d=—f=x ]
2=42+x
1

j=——
4x-12

No05 =

L 4=2x*-1]

X [Page = 0008]

, ,N006=[

f(x)=—7+x"
sz{x|-4<x<8}

|
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Function0l for No.11419

2={(p, (b,2),(r,1),(e,6),(b, :
NoOl = e e2 . LNo02=| J=(f(x)=6x"+5)
d=(x=5y"+2) «/7
.4:(y=5x2+2) 2=(f(x)=4x+15)
2x+1 ; x< -2
f(x)= 3 ; -2<=x<=2 dA=(x=2y-1
No03 = %) , ) : ,N004={ 2 }
x+1 x> 2 2=0"+3x+1=0)
[a=3,p=-2,y=42,8=26=5a=2+h b=2]
A =4/ —x
2= 2 +x ,
f(x)=x"—-11
No0S5 = 1 , , No06 =
3= D ={x|-6<x<3}
3x-3 ‘
| 4=-2x"+3]
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Function0l for No.11424

| I={(a,9).(s.5).(p.6).(1.8).(c.9)] D= {-5,-2,0,1,2,5}]

2=4(10,5),(10,b),(7,.d),(6,¢),(2,
No01 = ((10.5).( ). (7.d). (6, ¢).( S)}, ,No02=| [ =(f(x)=4/x+12)

3=(y=5x"+6) :
4=(x=5)"+6) 2=(f(x)=3x"-4) _

7 ; x< -3
f(x)=| 4—-x ,; -3 <x<3 = (& —0)
No03 = (x) x . * , ,N004={1 (X +y+2=0)
2x-3 x>=3 2=(x=-2y+1)
o=—/23,B=-3,y=-1,6=3,6=4,a=3+h b=3]
1 B
=
No05=| .2=32"-1], ,N006:[D _({xx)|‘_9<xx< 7}}
3=a2+x /
L .4=:—Wﬂ; J
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Function0l for No.11470

d={(c,4),(p,1),(d,7),(e, 7). (e, 10)}
2={(2,b),(8,d),(4,p),(6,¢c),(1,p)}

D,={-5-4,-2,0,2,5}

_ _ _ _ 2
NoOI = 3=(y=5x—4) ,  »No02=| I=(f{x)=5x"+3)
.4:(x=5y2—4) 2=(f(x)=4x+15)
2x+3 x< -4
f = ‘5 '4< <4 = 2:—
NoD3 — (x) d | ,N004:{1 (x 3y+1)}
4 —x x>=4 2=0CBx+y=3)
[o=-6,B=-4,7=12,8=4,6=6,a=4+h b=4]
=X +2
.2=:—ﬂ[; 2
No05 = Novs=| ) =10-x
o - 3: 31+x 5 » INO - Df:{)C|'8<x<5}
T 3x49]

X [Page = 0011]
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Function0l for No.11472

RS aha ] e
AR 5 5 , , a; ; y 3’ p;
No01 = a2 . S No02=| 1=(f(x)=3x"—4)
3=(x=2y"+95) «/7
.4:(y=2x2+5) 2=(f(x)=4x+14)
0 ; x< -2
f :2 +4 y '2<= <4 = 2 —_ =
No03 = (x) * X ’ ’N004:{1 ('+2x-3 0)}
—x+1 x> 4 2=(y=-3x+2)
[o=—/21,B=-2,7y=0,6=4c=6,a=4+h, b=4]
=327+ 1]
.2:—’VX+1 2
f(x)=x"-13
No0S5 = 3o 1 , ’N006:D—{x|-8<x<7}
T 3x-3 /
L 4=4fx ]
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Function0l for No.11523

A={(4,7r),(9,b),(8,¢),(3,a),(5,¢)/}
2={(5,a),(8,p), (1,1),(5,r),(10,a)}

NoO1 = 3=(y=2x+5)
.4:(x=2y2+5)
4—-x x< -4
NoO3 f(x)=|2x-3 4 <x<2
1 x> 2

[a:_7aB:_45Y:158:278:

I=—/3+x]
2=-x-3
NoOS=| 3=4fx
1
4=
L 2x+2 |

X [Page = 0013]

, ,N006=[

D,={-4,-3,-1,0,1,3}

,NoO2=| | =(f{x)=4/x+11)

2=(f(x)=5x"=2)

2

d=(x*+2y+3=0)
2=(=3x+1)

|

|

, ,N004:[

22,a=2+h b=2]

fx)=x>-8
sz{x|-5<x<4}
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Function0l for No.11549

A={(9.5).(4.5).(3.p) . (2,1).(3,b)] D= (-5, 3,-1,0, 1.3}
No01I = '2:{(9’d)’(2’s)’(6’f)’(8’r)’(4’b)}, ,No02=| .1=(f(x)=4x"-5)
3=(x=2y"+95)
.4:(y=2x2+5) 2=f(x)=4x+14)
2x-5 x< -2
fx)=| 3-x ; -2<=x<=4 d=(x=3y+1)
Nol3 = -1 x> 4 ’ ’N004:[2=(y2=—3 +x)}

[a=-3,B=-2,y=-1,8=4,6=24/6,a=4+h, b=4]

.Izﬁ
2=4x+1 2
f(x)=10-x
N =
No05 = 3= 3x1+2, 5N006 |:Df:{x|_4<x<6}j|
4=
L 2x+2 |
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Function0l for No.11925

d={(e,7), (e, 5),(a, 10),(p,5),(c,2)}
2={(l,e),(10,¢e),(9,p),(7,t),(5,1)}

NoO1 = 3=(y=4x"-5)
4=(x=4)"-5)
7 x< -3
NoO3 = f(x)=| 4—x -3 <x< 4
2x-5 x>=4

D,={-5,-3,0,3,4,5}

,NoO2=| ]=(f(x)=4/x+15)

2=(f(x)=3x"-2)

2

A=(y=x+1)
2=0"+2x+1=0)

|

, ,N004={

[o=—/22,B=3,y=-1,8=4,6=5a=4+h b=4]

I=—fx+1]
2=af—x
3=2x"+3
1

No05 =

T 3x43 |

X [Page = 0015]

, ,N006=[

flx)=—x+11
D={x|-3<x<6}

|
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Function0l for No.11935

e s et e N e
= ,e), s s ,p B ,a), ,a ’
No01 = a2 . L No02=| [=(f(x)=5x"~-3)
3=(x=3y"+95) «/7
.4:(y=3x2+5) 2=(f(x)=4x+13)
-11 K x<=-3
f(x)=2x-5 ; -3 <x<3 d=(x=y+2
No03 = () g x_ ; ,N004=[ (x2 a )}
3-x x>=3 2=0"=2+x)
[a=—/22,B=3,y=-1,8=3,6=6,a=3 +h, b=3]
1=3x+1]
.2: —X 2
Noos=| . 1| ,N006:[D _f({xx)|‘_: <in g J
T 4x-8 /
. 4=—/x+1]
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Function0l for No.12183

d={(c. 1), (c,4),(p,1),(d,5), (s,3)}
2={(r,7),(b,4),(e,3).(c,3),(s,10)}

NoO1 = 3=(x=2)"-5)
.4:(y=2x2—5)
3+x x< -3
NoO3 f(x)= 0 ;-3 <x<3
-2x-2 x> 3

D,={-5,-3,0,2,3,5}

,NoO2=| 1=(f(x)=+x+11)

2=(f(x)=5x"=2)

|

M

A=(y=2x-3)

, ,N004:[ )
2=0"=2x+3)

[o=-4.B=-3,7=42,8=3,6=6,a=3+h b=3]

=3 +x

1
2=
2x+2

3=4lx

No05 =

| 4=-2x*-3]

X [Page = 0017]

, ,N006:{

fx)=x>-12
D ={x[-5<x<3}

|
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Function0l for No.12246

[Page = 0018]

A={(10,t),(6,¢c),(7,b),(10,a),(4,t)}

2={(7.¢) (6.p).(4.1).(5. ) (8. ¢)} Pr=1-3-3,0.2,3,31
2= ,c),(6,p),(4,t),(5,¢c),(8,e :
No0I = 3=(y=32+2) , > No02= .1=(f(x)=q/x2+11)
.4:(x=3y2+2) 2=(f(x)=4x"+5)
7 . x<=4
fx)=|-2x-1 : 4 <x<3 I=(2x-3yp=2
No03 = (x) * , g , ,N004={ (2x-3y )}
x—1 x> 3 2=(0"+3x-2=0)
[o=—24/5,B=-4,y=0,6=3,6=5a=3+h, b=3]
(1= —3]
2:—’\/; 2
NoOS = NoO6 = f(x)=—x"+11
o - 3: x+1 5 , INO - Df:{)C|'5<x<4}
1 B
4=
L 2x—4]
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Function0l for No.12332

B A e M T D= {+4,-2,0.2,3, 4]
L= S, , , ,(r, ,(r, , (e,
No0l = 2 , L No02=| |=(f{x)=4x+13)
3=(x=5y"-2) 2
i .4=(y=5x2—2) 2=(f(x)=4x"+3) J
i 2x-5 x< -3
f(x)=| -3 ; -3<=x<=4 —(F-2y-1=0)]
No03 = () * , ,N004:{1 (x-2y-1=0)
—-x+1 x> 4 2=(x+2y=1)
[a=-5B=-3y=43.6=4e=T,a=4+h b=4]
A =4 —x
2=—x"+3

| D ={x[-9<x<3}

4=
L 3x—-6
X [Page = 0019] XXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXXXXXXKXXXXXXKKKXXXXXKKKKXXXXXKKKKXX XXX KKKKXX XXX KKKKKX XX KK KKK XX KKKKK

f(x)=x>—13
NoOS=| 32—/ 3+xl ,N006=[ (x) =x }
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Function0l for No.12682

PRI N AN A A D= {-5,4,3,0.3,5}]
2= ,e), (1,t), (8, p).(4,¢e),(2,a :
NoOl = 2 . LNo02=| I=(f(x)=5x"+2)
d=(x=5y"+2) «/7
L .4:(y:5x2+2) .ZI(f(X)I X+14)_
| 30 5 x<-3 )
fx)=|2x-3 ; -3 <x<=4 I=(3x-2y=3
No03 = (x)=|-2x § , aN004:{ Crm2r=3)
x—4 x> 4 2=("-x-3=0)]
[o=—/26,B=-3,y=-1,6=4,6=5a=4+h b=4]

1=/ 24x

1
2=

No05 = 3x+3 | ,N006:{
3=-3x"+1

| 4=~ |
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fx)=x>-9
D={x|-8§<x<9}
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Function0l for No.13022

R AR N N N Om AL LA
AR 5 B ,S » » » :c ’ ’
No0l = A2 s L No02=| [=(f(x)=4x+12)
3=(x=2y"-95) 2
.4=(y=2x2—5) 2=(f(x)=3x"-95)
2x+4 ; x< -2
f(x) = - ) <x<= — (12 _ _
No03 = (x) 6 ’ X 3 , ’N004:[.1—(y 2x+3—0)}
34+x x> 3 2=(x=-2y+3)
[a=-5B=-2y=—/2,8=3,6=4,a=3+h b=3]
_ .
A

3x-9
) | ==+l
NoO5=| 2=4x+1 | ’N006_{Df:{x|-8<x<7}}

e

2
L4=-3x"+1]
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Function0l for No.13650

A={(s,3).,(c,8),(p,5),(b,7),(b,8)}
2={(10,e),(3.b),(7,e),(6,a),(5,¢c)}

D= {-4,-2,-1,0, 1,4}

j— = — j— 2_
.4:(y=5x2+4) 2=(1f(x)=4x+12)
2x+1 ;  x< A4

flx)= 9 ;o 4<=x<2 — (1 — -
NoO3 = (x) x , ,N004:.1 (O ' =3x+1=0)
24+x x> 2 2=(y=—=x-1)
[a=-5pB=-4y=43,8=26=5a=2+hb=2]
[ I=-3x—1]
2=4x-1 2
flx)=7-
No05 = 1|, NoO6= (x)=7-x
3=— D={x[-6<x<3}
4x-12 :
L .4=~\/—7x i
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Function0l for No.13655

TGN | prissaasr
2= ). (9.r),(2,r),(7.d), e :
No0Ol = 3=(y=5x+4) ,  LNo02=| |=(f{x)= x2+14)
L 4=(x=5)"+4) 2=(fx)=6x"-5) |
[ -2x-3 ; x< -2
f(x)= +1 s -2 <x<=(4 A=(x=y=-2
No03 = (x)=| x . g , ,N004:[ (=y=2)
5 , x> 4 2=(x+3y-1=0)]
[o=-5B=-2,79=00=4¢c=+23,a=4+h b=4]
2 Lo
A=
4x—-4 fx) 2_ 1o
x)=x"—
NoO5=| 2=4/x-1 ’N006_{Df:{x|-7<x<4}}
3=—/x ‘
L 4=—x"+3
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Function0l for No.13667

A AN e D= 5,4,1,0.4)
L= , , , , ,r, s P, B
NoOI = 3=(x=2)7+3) , L No02=| ]=(f(x)= x2+11)
.4:(y=2x2+3) 2=(f(x)=5x"-6)
—4-x x< -3
f = '1 y '3<= <=3 = 2:—
No03 = ) . , ,N004={] " 2y+3)}
2x+1 x> 3 2=(x=2y+3)
[a=-5pB=-3y=43,8=3,6=5a=3+h b=3]
I=x"+1 ]
2 1 fi 7+x°
No05=| """ 3x+3 |, ,N006:[D _({xx)f;:xig}}
3=a2+x /
L 4=~\/—7x_
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Function0l for No.13734

A={(5,d),(2,d),(1,s),(8,t),(6,c)} D= {-5,-4,-1,0, 1,5}
NoO] — .2:{(],r),(103,_a),_(10,2b),(6,b),(4,t)}’ No02 = :1:(f(x):2x2+3)
I=(y=5x"-4)
.4:(x=5y2—4) 2=(f(x)=4x+11)
-4 ;. x<=-3
fix)=| x-1 ; -3 <x<H4 A=(y=2x+3)
No03 = 2x+3 > 4 , ’N004:[2:(y2:—2+x)}

[o=—/21,B=-3,y=0,86=4,6=5a=4+h, b=4]

A =—-3+x
1
2= _g_ 2
NoO5 = 12 | Neos=| T¥)=8-x
D={x|-7<x<8}
3=4—x :
L 4=-2x*+1]

)G BT ISHE BN IIVICH D 9:9:9.0:9.0.0.9.0.9.0.9.9.9.0:0:0:0:0:9:9:9:9.9.9.9.9.9.9.9.0.0.0.0.0.0:0:0.0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.9.0.0.0:0.0:0:0:9.9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0:0.0.9.9.0.0.9.0.0.0.0.9.0.0.9.0.0.0:4



):9:0:0.9.9:9:9.9.9:0:0:0.9.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9:0:0:0.0.0.9.9.9.9.:0:0.:0.0.9.9.9.9.9:9:0:0.:0.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9,9:0.0.0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0:0.:0.0.9.9.9.9.9:0:0.:0.0.9.9.9.9:9:0:0:0.0.0.9.9.9.9.9.:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXX XXX XXX KKK XXX XXX XX XXX KX KKK K LXK LXK LXK XXX XXX XXX XXXKKXXKXKXMS /2-6800401-00026XX
Function0l for No.13962

LIEDETE AR s
2= p).(7.¢),(9,¢),(1,a), T :
NoOl = b 2 . LNo02=| I=(f(x)=5x"-2)
3=(x=5y"-4) i _m
A=(y=5x"—4) 2=(f(x)=+/x+15)
x+1 K x< -2
f = _2 +3 y -2 < < 3 = 2:—
No03 = ()=|=2x+3 * C Nops=| 1= =E2)
-3 ; x> 3 2=(y=2+x)
[0=-5,B=-2,y=-1,8=3,6=4/26,a=3+h b=3]
I=—"+3 ]
.2:’\[—2+X 2
f(x)=—x"+11
No0S5 = 3o 1 , , No06 = D={x|-3<x<8}
T 2x+4 /
_.4=~\/—7x_
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Function0l for No.14470

d={(4,t),(3,r),(10,b),(9,7),(9,¢)}
2={(1,b),(3,d),(2,b),(9,¢),(8,p)}

D,={-5-4,-1,0,1,5}

_ _ _ _ 2
No0l = 3=(y=2x+3) ,  LNo02=| I=(f(x)=2x"+3)
.4:(x=2y2+3) 2=(fx)=4/x+11)
-4 ; x< -3
f(x)=[2x+2 ; -3<=x<2 d=(y=-3—
No03 = (x)=|2x * , ,N004={ » x)}
—x+1 x> 2 2=0"=-2+x)
[o=—24/5,p=3,y=1,6=2,6=5,a=2+h, b=2]
1=3x -2
2:—’\/; 2
f(x)=8—-x
No05 = 1 , , No06 =
3=— D={x|-5<x<8}
4x+12
L 4=42+x ]
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Function0l for No.14561

d={(s,10),(1.8), (e, 8),(d, 1), (e, 7)} D= {2.-1,0,1,2,3}

2= ,9),(d,10),(p,3),(b,10),(r,6
No0l = (e, 9).( 3__) jp 2) ( ). (7 )}, ,NoO2=| ]=(f(x)=4/x+13)
3=(x=3y"-95) 5
2=(f(x)=5x"-3)

4=(y=3x"-5)
x—1 ; x<=-3
fx)=| -3 ; -3 <x<=4 d=(x==2y+1
No03 = () g o Nopa=| IR D)
2x+5 ; x> 4 2=(x"=-y-3)

la=-4,B=3,y=—/3,6=4,e=T,a=4+h b=4]

1= —x+1]
2=4x _ 2
No05 = 1L Neos=|  RI=x Al
3= Dy={x|-3<x<8}
3x-9 :
| 4=-2x"-3]
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Function0l for No.14657

A={(1,b),(3,a),(10,e),(9,¢e),(6,5)}
2={(a,1),(d,7),(t,5),(e,4),(d,4)}

NoO1 = 3=(y=4x"-3)
4=(x=41y"-3)
0 x<=-4
NoO3 = fix)=| 4—x 4 <x< 4
2x—-4 x>=4

D= {-5,-4,0,1,4,5}

,No02=| ]=(f(x)=+/x+15)

2=(f(x)=6x"+5)

2

I=("-x-2=0)
2=(x=2y+1)

|

, ,N004={

(o= /21, B=-4y=-1,8=4,6=6,a=4+h b=4]

=23+ 1]
2=4-2+x
No05 = 3= X
1
T 3x49

X [Page = 0029]

, ,N006=[

fx)=x>-10
Df:{x|-7<x<4}

|
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Function0l for No.1l4661

A={(10,5),(7,a),(4,p),(6,p),(2,¢c)} Df={-5,-3 0,1,3,5}
No0l = 2 ((d.10),(e.2).(d.2).(s.8). (b, 6)} , No02 = J::(ﬂx):4x2—3)

I=(x= 3y +5)
.4=(y=3x +5) 2=(f(x)=4x+11)

2x—-4 x< -2
f = -6 ) '2<= <3 = 2— — 5=
NoO3 = (x) x , ,N004:['1 (x’-=y-3 0)}
-3-x x> 3 2=12x+2y=2)
[o=-3,B=-2,7= ﬁs 3.e=5.a=3+hb=3]
d=-2x"-3]
2 1 fi ‘13
Noos=| “T3x-3 | .noos=|  TI)=X-
D={x[-9<x<5}
.3=:—ﬂ[; ‘
x—1
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Function0l for No.14674

(={(8,p).(1.¢).(6,5),(2,d).(9,¢)] D= {-5,2,0,2,4,5}]

2=4(b,10),(a,4),(s,8),(d,3),(s,3
No01 = {( ). (a,4).(s.8),(d,3), (s )}, ,No02=| [ =(f(x)=4/x+15)

3=(y=5x"+2) ;
.4=(x=5y2+2) 2=(f(x)=2x"+5) |

2x-1 x< -2 .

f(x)=|—x-5 ,; -2<x<2 A=(y=-2x+3

No03 = () =| = § , ., Noo4 =[ (p==2x+3)
-7 ; x> 2 2=(x"+y+1=0)]

_[a:'4,B:_27y:-158:278:V23,a:2+h7b:2]
— 1 -
="
4x+12 flx) =7 + 2
— x)=-7+x

3=ox

2
L.4=3x" -2
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Function0l for No.14676

A={(b,5),(s,1),(d, 10),(c,10),(t,3)}
2={(1,s),(1,p),(8,1),(6,5),(3,d)}

D,={-5,-2,-1,0, 1,2}

_ _ _ _ 2
No01 = 3=(y=2x+5) s SNo02=| J=(f(x)=6x"+5)
4=(x=2)"+5) 2=(f(x) = x+12)
2x-2 x<=-2
fx)=| x+5 ; -2 <x<=4 I=Q2x-y=2
No03 = () =| = g : ’NO‘M:{ Gy )}
1 , x> 4 2=(x"-y+1=0)
[o=-4,B=-2,y=1,8=4,6=4/22,a=4+h, b=4]
J=n24x]
2=x f(x)=7—x°
No05 = 1 |, No06= a
3= Di={x|-6<x<8}
2x-2
L 4=x*—1 ]
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Function0l for No.14694

= B B )a B B y ,S y 5 ’
No0l = 3=(x=31-5) . No02=| ]=(f(x)=5x"-6)
i 4=(y=35-5) 2= () =/ x+12) ]
— 0 ; x<=-2 .
No03 flx)=|-2x-4 ; -2 <x<=2 N004:[.1:(x2—y+1:0)
3+x x> 2 7 2=(y=-2x-3) ]
[o=—/23,B=-2,7=0,6=2c=4a=2+h b=2]
[ 1=-2x"+3]
2=~x fx)=13 -
No05 = .3:4/21+x ) ’NOO6:{Df:{x|-5<x<8}}
f=—
7 4x-12]
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Function0l for No.14705

T SOy Dy={-5.3.-1.0.1,3)
No01 = ’ ’_3’:(y’:3)’cz+’5) SO U No02=| 1 =(flx)=3x"+4)
.4:(x=3y2+5) .2:(f(x)=m)
2x—-4 x<=-2
I P e o (R BRYR P eie

[a=-5pB=-2y=43,8=3,6=6,a=3+h b=3]

d=4x+1
2=—fx

No05 = 32 1 , ,N006:{
T 3x-9

p)
L 4=x"+1 |
PN ET IR NIKT R D 6'6'0:0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.¢

f(x)=10-x
D={x|-9<x<3}
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Function0l for No.14715

A={(6,b),(9,5),(1,1),(2,¢),(6,5)}
2={(4,¢),(10,5),(5,5),(2,d),(1,t)}

NoO1 = 3=(y=3x+2)
4=(x=3)"+2)
—x+1
flx)=|2x+3
No03 = "

x< -4

4<=x<=4

x> 4

D= {-4,-2,-1,0,2,4}

,No02=| ]=(f{x)=4/x+11)

2=(f(x)=3x"+2)

|

2

.1=(y2:—3 +Xx)

, ,N004:{
2=(x=3y-2)

[a=-5B=-4,y=1,8=46=422,a=4+h, b=4]

1= 3]
.2=:—ﬂ[;
No05 = 1
3=
3x+9
L.4d=4-2+x ]
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, ,N006:{

fx)=13 -
D={x|-8§<x<7}

|
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Function0l for No.14716

s en ey posaes
L= B ,(r, , (e, ,(a, ,(C,
No0I = a2 ., LNo02=| J=(f(x)=5x"-2)
3=(y=3x"+2) «/7
i 4=(x=3)"+2) 2=(f(x) =4x+15)
i 2x+43 ;  x<-3 .
fx)=| -3 ; -3 <x<=3 I=Q2x-2y=2
No03 = () . y , ,N004={ (Fr-2r=2)
-x+1 x> 3 2=(x"-3y-2=0)]
[o=-4,B=-3,y=+3,5=3,6=6,a=3+h b=3]
i} D
C4x-12 £y = + 12
X)=-x
NoO5=| 2=4—x N006:{ }
’ ’ D={x|-6<x<9
3=-2x-3 y= x| /
L.4d=—/x—1 ]
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Function0l for No.14752
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A={(s,6),(d, 4),(t,3),(p,7),(b,4)}

2=1(3.p). (10, a),(4,¢),(3,a),(9,7)] = 13,72,0,2,3,43
WARS ,p ) ;a » ,C s :a s :r
NoOI = I ., LNo02=| 1=(f(x)=5x"-6)
I=(y=4x"+5) «/7
.4=(x=4y2+5) 2=(f(x)=4/x+15)
2x+4 x< -3
f(x)=| —x+1 ; -3 <x<3 I=(3x+y=3
No03 = () =| = * , ,N004:[ (3x+y )}
2, x>=3 2=(0"-3x+2=0)
[0=-6,p=-3,y=0,6=3,6=24/5,a=3+h b=3]

I=—fx—1]

~ fx)=8—x
2 b ’N006_[Df:{x|-9<x<8}}

N005: 3 :xz

4=
L 3x+9 |
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Function0l for No.14775

A={(9,5),(1,s),(6,a),(3,¢e),(1,d)}

D= {-5,-4,-1,0, 1,4}
2={(7,d),(2,r),(10,r),(6,¢),(3,5)) -

— — — — 2_
No0l = 3=(y=3r-2) ,  »No02=| I1=(f{x)=5x"-6)
.4:(x=3y2—2) 2=(f(x)=4x+12)
[2x+4 ; x<-3
f =] — _5 5 '3 < < 3 = 2: -
o3 (x)=| —x . X | ,N004:{.1 (X’ =y 2)}
L -8 ) x>=3 2=(x=3y-2)
[a=-4,B=-3,y=1,6=3,8=423,a=3+h b=3]
_ L
A=
3x-9 fx) = 13 )
NoOs=|2=-32-2| .novs=| TD)=13-x
D={x|-7<x<8}
.3=:—ﬂ[; ‘
L. 4=4x—-1 |

)G BT ISHEBNIUICE S D 9:9:9.9.9.0.0.0.0.9.9.9.9.0:0:0:0:9:0:0:9:9:9.:9.9.9.9.9.9.9.9.0.0.0.0.0:0:0.0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.0.0.0.0:0.0:0:0:9.9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.9.0.0.9.0.0.0.0.9.9.0.9.0.0.0.4



HD:0:0:0:0:0:0:0:0:0:0:0:0:0.0:0:0.0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.000.00000.00.000.00.0:000000000000000000000000.0000000000000000000000000000000000000000000
[ >



